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Mohit.. 7 hours ago

Sumana Bhattacharyay 8 hours ago (edited) . o
- - Thank-you madam for today's Wonderful Class Session. "=

-a'a &
And
b GSP  REPLY My Answer for today's homework is like-

Homework : Sequence is NLOQKMP

Alok Kushwaha 1 hour ago Read more
Answer is top to bottom:

NLOQKMP @y %P  REPLY

b G§P  REPLY debasish chakraborty 1 hour ago
Homework : NLOQKMP
Shubham jatwa 4 hours ago THANK YOU MAM. AWESOME SESSION.

0QK
NLOQKMP gy SR  REPLY
o P  REPLY

Rahul Bhakat 3 hours ago
NLOQKMP ( Top to Bottom)
Thank you ma'am!

e e REPLY

Nabanita De 1 hour ago
H.W-NLOQKMP(top to bottom).thank you ma'am.

@y 5P  REPLY
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Seven boxes K, L, M, N, O, P, Q are placed one
above another. More than three boxes are
placed between L and P. Only one box is placed
between box N and O. Box N is placed above box
L. Box Q is placed immediately above K. Only one
box is placed between Q and M. Not more than
one box is placed between P and K. Box Q is not
placed above O.

|Td 853 K, L, M, N, O, P, Q T G8Y & 3YT TW T3
LIRPF T NT A 3T dlFqa @ Tv | STFA N
31T 0 & 1T Shaol T 7T QT IAT ¢ | 1A N Y
99T L & FYT I@T AT ¢ | 9198 Q BT K F S I
@1 AT gl Q 3t M & i Fae v SiFT @1 IT=AT
¥1 31 gt p 3t K F T v Rear @ | Bear
Q, O & FYT AT (@I AT ¢ |
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Q31. Which of the following box is kept at the top? (a)a sl
(b) L (c) N (d) O (e) None of these

Q32. Which of the following box is placed immediately
above box M? (a) Q (b) L (c) N (d) K (e) None of these

Q33. How many boxes are kept between box L and box K?
(a) One (b) Three (c) Two (d) Four (e) None of these

Q34. How many boxes are kept below box Q?
(a) Three (b) Two (c) One (d) More than Three (e) None

Q35. Which of the following box is placed immediately below
box O? (a) Q (b) L (c) N (d) K (e) None of these
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ROW JET TEA PIN HUB

If the given words are arranged in the order as they appear in a dictionary from left to right, which of the

following will be third from the right epd??ﬂ%\' feu arv Qreey &t 38 A q aﬁﬁiﬁf forar SaT & O
%A H d 910 F T TF Ascahmel A @S ¢ §, Aeafaf@a & @ Fia qrv aR & i gen?

(a) ROW (b) JET (c) TEA (d) PIN (e) HUB

How many letters are there in the English alphabetical series between the second letter of the word which is
second from the left end and the second letter of the word which is second from the right end? 37aIsit

qUIATAT @l # eg F gHY AN I 90 B8R & ¢ 3R arsg @1 e ST g BR &
w%,#aﬁaﬁmﬁaa?l;? p w

(a) One (b) Two (c) Three (d) Four (e) None

Q3. If in each of the given words, the first alphabet is replaced by its previous alphabet and second alphabet
is replaced by its following alphabet as per the English alphabetical order, then how many words thus

formed will be without any vowels? Ifg fRT 1T gA+ s ﬁ', ggel qul & 38% S aof F 3y
gaY ot &t IS IuiRA F AR 38F Reafaf@a aof & gfaeaRa fFar smar @, o 3@
TFR fraer eg e @ & & @a?

(a) None (b) One (c) Two (d) Three (e) Four
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JET TEA PIN HUB

If in each of the given words, the second alphabet is replaced by its previous alphabet and third
alphabet is replaced by its following alphabet as per the English alphabetical order, then how many
words thus formed will have more than two consonants? If¢ foT 1T YA+ U= A, gur Y
mﬁWaﬁﬁaﬁTWaﬁﬁmﬁﬁraﬁ#maﬁW%W qiida
fHaT ST &, @) 3 YR o1 T fhae qsq) & &Y @ AR suT gl

(a) None (b) One (c) Two (d) Three (e) Four

Q5. If in each of the given words, every consonant is changed to its previous letter and every vowel is
changed to its next letter according to the English alphabetical series, then in how many words, thus

formed, atIeastonevowelwﬂlappear"ﬂlﬁﬁ'Q'?I'Q'EI_fﬁTQITﬁ' Ul <hold &l 3UF S
am#mﬁmm%aﬁtmwaﬁmmmma;mmmam
# o RIT 91T &, A 30 YR fhde e} &, A  FA UH @ @ 32

(a) None (b) One (c) Two (d) Three (e) None of these
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Ten persons are sitting in two parallel rows equidis"

from one another facing each other. A, B, C, D and E are
sitting in row 1 facing southand P, Q, R, Sand T are
sitting in row 2 facing north (not necessarily in the same
order). C sits third to the left of D. E is not an immediate
neighbor of D. C faces Q. One person sits between R and
Q. P is not an immediate neighbor of Q. B sits second to
the right of C. S sits second to the right of T. R is not an
immediate neighbor of P.

G SATFd AT FATATR GIFdl 3 U quY ¥ HATT gt T TH
$Y T HG FH 4581 A, B, €, D A E ufdar 1 7 gy
ITHG FH IS AP, Q, R, s AR TOfFT 2 A 3T A
ITHG FIH A8 (TR 7L fr s FAA) I, DF IR R
AR T W AST R E, D F1 ehead w8 81 c w1 o@
Q A 3R T R I Q&F g vr afFa sl P, Q FT AFCan
TSIl AR 81 B, CH ST A G TUT WASTEI SHSTRI TH
g & gEY TUTT W B R, P FI fAweds vl g 81
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Q6. Who among the following sits to the immediate
left of T?
(a) P (b) S (c) R (d) Q (e) None of these

Q7. What is the position of E with respect to C?
(a) Third to the left (b) Third to the right (c)
Immediate left (d) Immediate right (e) None of these

Q8. Who faces D? (a) S (b) P (c) R (d) Q (e) None of
these

Q9. Who faces the immediate neighbor of Q?
(a) B (b) A (c) D (d) E (e) None of these

Q10. Four of the following five are alike in a certain
way and hence form a group. Who among the
following does not belong to that group? (a) E(b) T
(c)D(d)S(e) A
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o) n which date of the month did Harsh celebrated his Birthday? "

I. Harsh correctly remembers that he celebrated his birthday on an even numbered date of the month.
Il. Harsh’s friend correctly remembers that he celebrated his birthday after 26th but before 30th of the
month.

gY o A A fFg a@ ' H9AT FAATeT AT AT?

1.8Y 1 & T g § T 39 39T FoAfeT Al HY Uh TH HEAT dlell dRIG T HATAT AT

%ﬁmwm@m%%mmm 26 da@ & 91 dfhad AL A 30 I
HATAT T

(a) If the data in Statement | is sufficient to answer the question while the data in Statement Il is not
required to answer the question

(b) If the data in Statement Il is sufficient to answer the question, while the data in Statement | is not

required to answer the question

(c) If the data in either Statement | alone or Statement Il alone is sufficient to answer the question

(d) If the data neither in Statement | nor in Statement Il together are sufficient to answer the question

(e) If the data in the Statement | and Il together are necessary to answer the question
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Q12. How many marks did Saurabh scores in the hundred marks exam?
I. Saurabh scored two digits marks and his marks was completely divisible by 19.
Il. Saurabh scored more than sixty percent but less than ninety percent of total marks

&t 3l fY qdier A G F Faa 3F grea [Fu?
e F & 3l & 3F g T AR 38F w19 F T g fFemsT I
mﬂ#mqﬁam#maﬁmmaﬁ#ﬁﬁam@mmmm

(a) If the data in Statement | is sufficient to answer the question while the data in Statement Il
is not required to answer the question

(b) If the data in Statement Il is sufficient to answer the question, while the data in Statement

| is not required to answer the question

(c) If the data in either Statement | alone or Statement Il alone is sufficient to answer the

question

(d) If the data neither in Statement | nor in Statement Il together are sufficient to answer the

question

(e) If the data in the Statement | and Il together are necessary to answer the question
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Q13. Who among J, K, L, M and N is the shortest?
I. Jis shorter than K. M and N are not shorter than K.
Il. Lis shorter than K.

LK LM3IR NH @ a8 BT Hid g2
1), K¥ BET g1 MR N, KT B a8 &l
2.L, K¥ e gl

(a) If the data in Statement | is sufficient to answer the question while the data in Statement Il is
not required to answer the question

(b) If the data in Statement Il is sufficient to answer the question, while the data in Statement | is

not required to answer the question

(c) If the data in either Statement | alone or Statement Il alone is sufficient to answer the question

(d) If the data neither in Statement | nor in Statement Il together are sufficient to answer the

question

(e) If the data in the Statement | and Il together are necessary to answer the question
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Five friends K, L, M, N and O earn different salaries. N earns less than K and L. M earns less th?
only one person. O earns more than only two persons. K earns 2 lakhs and is not the highest.

9T SIEd K, L, M, N 3T O 3Ta91-379T adeT FATT &1 N, K3 LY FF FATET g1 M Fad
TF Afed ¥ FH FAE ¢ 0 Fad a IfFadl ¥ 3AWF FATAT &1 K2 A1 FHATAT ¢

3R 3Tgaw a8 §

Q14. What could be the salary of O?
(a) 1 lakhs (b) 1.5 lakhs (c) 1.75 lakhs (d) 2.5 lakhs (e) Less

than one lakhs

Q15. Who among the following earns lowest salary? (a) K
(b) L (c) O (d) N (e) None of the above
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Q16.
Statements:

W=2I>8S=D>0<M<F
Conclusions:

I.D<W

[.LO<I

(a) If only conclusion I follows.

(b) If only conclusion II follows.

(¢) If either conclusion I or I follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and Il follow.

Q17.
Statements:

C>A<K<E=T<]=N
Conclusions:

I.N<K

ILA<]

(a) If only conclusion I follows.

(b) If only conclusion II follows.

(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.
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Q18. Q19.

Statements: Statements:
P<Q<S=T<]<R>L K<I=T<RESZ>Y=>2W
Conclusions: Conclusions:

L]=2P [.Z>K

. T<L ILR>W

(a) If only conclusion I follows.

(b) If only conclusion II follows.

(c) If either conclusion I or Il follows.
(d) If neither conclusion I nor Il follows.
(e) If both conclusions I and II follow.

(a) If only conclusion I follows.

(b) If only conclusion II follows.

(c) If either conclusion I or Il follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and Il follow.
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Q20.
Statements:
T>02B2AZ2C=X>0Q
Conclusions:
. X0
[.O=C

(a) If only conclusion I follows.

(b) If only conclusion II follows.

(¢) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.
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Point A is 16m to the East of Point B. Point D is 6m to the South of Point B. Point E is 4m to the North of Point
A. Point C lies exactly between Point A and Point B. Point G is 8m to the East of Point D

faig A, fig 8% qd & 16 #ex 31 g b, g B & gfavor & 6 Aex 31 [g £, g AF 3w 7 4
A gl Mg cfagasik Mg eF Sr Mo A 31 Rg g, Rg s 8 Mex P Bl case A & @

Q21. In which direction is Point G with respect to Point E?
(a) North (b) Northeast (c) South (d) Southwest (e) Cannot
be determined

Q22. What is the shortest distance between Point G and
Point A? (a) 8m (b) 9m (c) 10m (d) 12m (e) None of these

Q23. If Point H is 8m to the West of Point E, then how far is
Point H from Point G? (a) 4m (b) 8m (c) 10m (d) 12m (e)
None of these
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In a family of seven members there are four female members. H is the mother of J. E is sister-in-law of H. L is
the only brother of E. M is the father of L. K is sister of J. N is mother-in-law of H.

AT AT & Uh YRGR & IR AT e&T &1 H,J T AT 81 E, H A REe-sa-d1 81 L, EST
SFdtar #1E ¥ M, LFT Rar &1 K, ) g8 T N, HFT T 2

Q24. How is J related to E? (a) Niece (b) Nephew
(c) Sister (d) Brother (e) Either (a) or (b)

Q25. How is N related to K? (a) Aunt (b) Mother
(c) Grandmother (d) Daughter (e) Cannot be
determined

Q26. How is M related to H? (a) Uncle (b) Father
(c) Brother (d) Father-in-law (e) None of these
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»n «

Q27. If “summer is hot” is coded as “mo ka pa”, “may is summer” is coded as “ti ka mo”,
then “hot may” will be coded as?

Ife "gAT T Ie" H "HI FT 9" F T A H15 fRAm AT §, "?H g GHT B
" F A" F T H s FAT ST &, A "gle A" FY F4T Fis hAT FTean?

(a) ka mo (b) mo ti (c) pa ka (d) ti pa (e) Cannot be determined
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Q28. How many pairs of letters are there in the word” WINTER” which have as
many letters between them in the word as in alphabetical series?

A “WINTER” & &R & W fFaar oo § oot ofi=r 3o & 3rew @
IECCIEECLICET I Y

(a) One (b) Two (c) Three (d) Four (e) None of these
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There are seven friendsi.e. A,B,C,D,E, Fand G WHH
lives in a multi-story building such that ground floor is
numbered 1 and above it is numbered 2 and so on till
the last floor which is numbered 7. Only two person
lives between D and E. D lives on an odd number floor.
Only one person sits between C and D. Only two person
sits between C and F. Only two persons live between G
and F. B lives one of the floor below A. More than

Three person lives between G and A.

|1 AT 3r4Td A, B, C, D, E, F3R G §, a’rmﬁwmﬁm
m#wmwﬁ%ﬁ:maﬁmﬁaﬁtm
ST 6 FEAT 2 ¥ 3 =6l ave sifae wfrer ao o
FAMFT L 7. D IR EF AT FaataFaea & b (AwH
&1 arely AT W EdT ¢l € 3R D & g haar v
giegderdl ciiRFFfaFaaraRads g6 3ilTF
& T had Y TFd IEd &1 B, A & A1 fordl vah ATSeT
W EA12l G AT A F fig T ¥ s afFawa &
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. | 4

Q1. C lives on which of the following floor?
(a) 3rd Floor (b) 2nd Floor (c) 7th Floor (d) 1st
Floor (e) None of these

Q2. Who among the following lives on the
second floor?
(a) F (b) A (c) G (d) E (e) None of these

Q3. How many persons lives above the floor on
which B lives?

(a) No One (b) Two (c) One (d) Four (e) None of
these
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- Q4. Which of the following statement is true
m regarding D?

(a)D lives immediately above F.

(b) A live immediately below D’s Floor.

(c) D lives one of the floor below G.

(d) C lives one of the floor below D.

(e) All are True.

Q5. Four of the following given five belongs to a
group find the one that does not belongs to that
group?

(a)B (b)A (c)G (d)C (e)D


http://www.mahendras.org/

'Sl CLERK 2022 / /@t 11:30 AM/ O

3125472845719652414582439769423

Q6. Which' of the’following dig[t will be.sixth to the left of tenth from the right end? fA=Ifef@d qA
il IT 3 g SR ¥ HA & 9 & Sl ghm?
(a) 6 (b) 9 (c) 5 (d) 2 (e) None of these

Q7. How many 2’s are there in the series which are followed by a number less than 6?
HgaT # W frast 2 § e 915 6 & FH7 FE&AT 37T 82

(a) One (b) None (c) three (d) Two (e) More than three

Q8. What will be the addition of fifth, seventh and tenth digit from the left end?
910 B ¥ Y/9d, ¥4 AR g8 31 T AT FAT HE?
(a)13 (b)10 (c)11 (d)15 (e) None of these
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3125472845719652414582439769423

Q9. If all the perfect square digits are removed from the series, then which of the following
will be fifth to the right of sixth from the left end?

afe HEer & Wt qof a9F 3% ger jw aw, & Ae=faf@a & @ Flq aw sk @
5% ¥ o ¥ TUd T W em?
(35 (b)2 (c)8 (d)1 (e) None of these

Q10. How many odd numbers are there in the given series which are immediately followed
by an perfect square digit?

& 715 H@er # W fFaed Rvw veae § Oee &% o e Qo a9t aF 32

(a) One (b) None (c) three (d) Five (e) Seven
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Input: 65 98 57 12 33 41 89 6

Stepl: 7 65 57 12 33 41 89 97
StepIl: 13 7 65 57 33 41 97 88
StepIlIl: 34 13 7 57 41 97 88 64

StepIV:42 34 13 7 97 88 64 56
Step IV, is the last step
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Q11. What is the total sum of the third element from the right in step Il and the first

element from the left in step IV?
(a) 150 (b) 126 (c) 168 (d) 145 (e) None of these

Q12. In which of the following step ‘31 46 94’ found in the same order?
(a) Step Il (b) Step | (c) Step IV (d) Step 1l (e) No such step
exists
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Q13 Which element comes exactly between ‘9’ and ‘77’ in Step IV of the given input?
(a)32 (b)19 (c)94 (d)47 (e)9and 62

Q14. Which of the following will be the step IlI?
(a)24 9 20 31 46 94 77 62

(b) 24 2093194 46 77 62

(c) 24 208 31 46 94 77 62

(d) 24209 314694 77 62

(e) None of these


http://www.mahendras.org/

SBI CLERK 2022 / /@mat 11:30 AM/

‘Q/15. If it is possible to make only one meaningful word with the 1st, 3rd, 4th, 5th |
of the word DEGRADE, which of the following will be the second letters of the word ? If
no such word can be made, give 'X' as the answer and if more than one such word can
be made, give 'Y' as the answer.

qﬁ?l_c{DEGRADEﬂ?W drey, =i, qrEd IWERY & Fad UH YT eAeq
T 99T &, ﬂﬁmﬁﬁa##ﬁam%ﬁmwamm?aﬁw
P QAsE oIgl FoIAT ST Hhdl 8, df 3 & ™ & X' 34X I v & 3«
U Qe I ST Johd &, af 3 'v' S|

etﬂ!l

(a)G
(b) A
(c)R
(d) X
(e) Y
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How many such pair of letters are there in the word ‘RANDOM’ each of them as many
as letters between them as they have according to the alphabetical order?

G 'RANDOM' A 3eRT & WA fhdsr I7dA ¢, e d @ 9q+ & I 3 &

e ¥ Fraa 3a% i quiagsa & AR &2
(a)four (b)Three (c)One (d)Two (e)None of these
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A certain number of persons are sitting in row fﬂr’
north. Q sits fifth to the right of V. Three person sit
between V and A. S sits fifth to the left of A. Only

one person sit between V and D. X sits third to the
right of D. Only three persons sit between X and C. Q
is third from the right end. Only six persons sit
between P and T. P is an immediate neighbor of X. S

is not the immediate neighbor of D.

v fAfRaa gear & safFa 3o f v A w1
gfFa AT Q VHF TR T Iud TAHA W TR Vv
IRAF T dNaaRFads s, AF T d I
T W AT g1 V 3R D &F i Faar v safaa do1
g1 X, D & g A Y TUTT R T 81 X & T dhaol
diTcafFa d8 81 3 c. Qe R T M T W)
gl PIRNTF AT FaT ST ARFTIISEI P, X FT
frecad T2 Y €1 S, D &1 Adead TR 71 &
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Q17. If S is at extreme left end then how many persons
are sitting in the row?
(a)11 (b)17 (c)13 (d)14 (e)12

Q18. If B sits exactly between T and S then what is the
position of B with respect to A?

(a)Third to the left (b) Third to the right

(c) Second to the left (d)Fourth to the right

(e) None of these

Q19. If G sits second to the right of P then how
many persons are sitting between G and V?

(a) Two (b) One (c) Five (d)
Three (e) None of these
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Q20. If R sits third to the left of S, then how

many persons are sitting between R and D?

(a)Twelve (b) Ten (c) Fifteen (d)
Nine

(e) None of these

Q21. Who among the following is fifth to the
right of A?
(@)S (b)P ()R (d)X (e)Q
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Q22. There are five personsi.e. F, G, H, | and J. If G is taller than H and J but smaller than
F. 1 is smaller than H, who is not the second smallest. Then who is the third tallest person

among all?

gl 9rg sgfad & 3747 F, G, H, 13X )1 I G, H3IR J & &1 § «fheT F& Sler
1 LHY oY &, ot g gew over At ¥ A weft F @ Ao wa@ e @fFa

Bl 87
(a) J (b) G (c) F (d) H (e) None of these
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There are eight friends i.e. A,B,C,D, E, F, G an
all sits around a square table such that four of them sit
at the four corners and face towards the centre and
other four sit on the middle of the side who faces
outside. B sits third to the left of C, who sits second to
the right of E. Only two persons sits between E and D.
B does not sits opposite to D. G sits second to the right
of F. G is not the immediate neighbour of D. A is not
the immediate neighbour of B. H does not face outside
the centre of the table.

3ms AT AATT A, B, G, D, E, F, G 3 H & ot T3fl vah g9
A & TRY AR W THR 45 § o 397 @ IR IR PR
45q § 3 g AT 3T 377@ gl § 3N 37 IR v AT 3
3@ 8 o | 98 T&T ST 16 1 A 37 8T B, CH IR
M TaT W ST, MEF e A gy FA W AT E
IR D FATFaacrcaFads s, o Rufaagidargi
G, F & g W 8 TUTT W o181 G Apeam w2y agi 21
DI A, BT fel A T 8. HFT AT AT F hg &
gTET hY HT ALT §.
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Q23. Four of the following five belongs to a
group find the one that does not belong to that
group?

(a)D(b)B(c)C(d)F(e)G

Q24. Who among the following sits opposite to
B?
(a) F (b) D (c) E (d) A (e) None of these

Q25. How many persons sits between B and A
when counted from the right of A?

(a) No One (b) Two (c) Three (d) One (e) None of
these
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Q26. Who among the following sits on the
immediate right of E? (a) F (b) A (c) B (d) G (e)
None of these

Q27. Who among the following sits second to
the right of H?
(a) G (b) C (c) F (d) A (e) None of these
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There are eight membersi.e. A, B, C, D, E, F, G and H who belong to a family having three generation. D |H'
only daughter of H and she is unmarried. H is the father-in-law of G. F is the son of A, who is husband of E. B
and D are siblings. F is the brother of G. Cis the grandson of E. 3ITd Hq&¥d FYTq U, &, €, 9, é‘ TH, St
3k v § S T I arr RER ¥ FERT DHa?rsam’tr-ﬁq'aﬁ%sﬁTagaiﬁaT%?r%l H, G &T
X ¥ FAF OF §, Y eF 9fd #1 B3R D sné-awa ¥ £, G FH TE ¥ C, EFT YT ¥

Q28. How G related to H?
(a) Son (b) Daughter (c) Son-in-law (d) Daughter-in-law (e)
None of these

Q29. How is B related to C? (a) Brother (b) Son (c) Father
(d) Mother (e) None of these

Q30. Who among the following is the grandfather of C? (a)
H(b)D (c) F(d) G (e) E
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Seven boxes K, L, M, N, O, P, Q are placed one
above another. More than three boxes are
placed between L and P. Only one box is placed
between box N and O. Box N is placed above box
L. Box Q is placed immediately above K. Only one
box is placed between Q and M. Not more than
one box is placed between P and K. Box Q is not
placed above O.

|Td 853 K, L, M, N, O, P, Q T G8Y & 3YT TW T3
LIRPF T NT A 3T dlFqa @ Tv | STFA N
31T 0 & 1T Shaol T 7T QT IAT ¢ | 1A N Y
99T L & FYT I@T AT ¢ | 9198 Q BT K F S I
@1 AT gl Q 3t M & i Fae v SiFT @1 IT=AT
¥1 31 gt p 3t K F T v Rear @ | Bear
Q, O & FYT AT (@I AT ¢ |
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Q31. Which of the following box is kept at the top? (a)a sl
(b) L (c) N (d) O (e) None of these

Q32. Which of the following box is placed immediately
above box M? (a) Q (b) L (c) N (d) K (e) None of these

Q33. How many boxes are kept between box L and box K?
(a) One (b) Three (c) Two (d) Four (e) None of these

Q34. How many boxes are kept below box Q?
(a) Three (b) Two (c) One (d) More than Three (e) None

Q35. Which of the following box is placed immediately below
box O? (a) Q (b) L (c) N (d) K (e) None of these
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